EARAROBREBRT —5 XN—ZXBISH—F

2023F486H (A 10EH3E

EQe 182 y5%4mt

EERNEE IR

[AE%] 17%&:1,500,000 § ~ 237&:600,000 ™  37%&:375,000F  43&:225,000 . 53&:150,000 1

B % B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
o N TERIE . - . - ST (FEkR)
115l 5 2=wF1—> 7 | IR 520_)2 2-1 36.4 4 (5:)94; Sl
R:O—RKAFO7 B:JYRFaAR #HET7—L
3 Ho4 | KHER 50.5 8-8 36.1| - 5 | 500 |G (FEH)
] 2 DA e 5.0 (1172) @3 | @R Tr—2hEY3Y
R:¥VUSTvik B:eUITFrIR—Y fAER S Y K
g — R — H o5 | RO 50.6 33 36.6| - 30| 530 | AR (@)
3/8|9| TAY3—RU—LA 57.0 /0 r0) | PR
RiFvyed/FeF B:I0-rhovay HEIRUIS
*r ~ ° t 6 | HBF 50.7 6-6 3.3 — 7 | 461 |BHEX (k)
1l 6| TOVIDVAES ! 5.0 172 4y | (B JPNEH
R:O—RAFO7 B:5IVIIVH—I RS 405
5 — = %7 | PHEEL 50.7 4-4 3.6 — 2 468 | KEKEB (Fak)
1 3 ISP = 58.0 M) () | AR
RiFVyvd/Fe+ S IUENVD— F3EHERMBS
o P &R . A . = EM=_ (EM)
o7l 7 | nLmL7s s Y o0 %7 U | EETan
R:YOURI( TSR B:O—-UVREA e HE
o T H o7 | AR 51.0 1-2 7.2 - 6 | 473 |LLOE=E ()
7 4 =ver7—7o 55.0 (1172 () |ESHES
R:O—RAFO7 B:=VENLA RIFERHIS
Sy o~ o =T - - afeiE (FE)
8l1l1 194 N\—R 4 5 53% 1T (1513./34) 7-7 37.0 8 (4::57) CiRos
R:IAYVeAY B:ZY/FILAUT N L35
“ ° st 6 | EWEDE 52.1 9-9 7.4 - 9 | 47 |WFES (BEH)
9|8|g|XvF¥r/NTx 55.0 ®) (49) 8 DUy
:0—RAF0O7 8B:7—F4ARFIAR ESHIT—L
@ 1—F—&@BIEfL
1J—F—
Aal=zr=
30—F— 4,5,9,3,7,6,1,2,8
4J—F— 5.,4,9,3,7,6,1,2,8
@ I RE
B 5 1,080 | [ D4 K 2-5 1,680M = 2-5 7,870/ 38 2-5-9 7,920M4
8 B 5 260 5-9 760M RS E 2-5 7,460 s 5-2-9 75,310M
2 2904 2-9 960 5 2 5-2 13,1009
9 200

ABIC OV TRUTEREERRODDZE. THRIIZEL.




